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4.1 Simulation of the Nash equilibrium g
N

The model’s equilibrium is described by ten equations, being five endogenous and five ex-
ogenous processes. The endogenous variables are (X,, 7, b, i, &) while the exogenous
= ones are (7', v, n,, &, O;). Following the definitions from previous sections, the set of
equations characterizing the equilibrium can be represented as:

IS curve: £, = E &1y — o (i; — E;t,41) + ab, +

Phillips curve: 7, = k% + BE 41 + W

& Public debt: b, = (1 + i*)b,_; + bi, + 8, — @& + 7,

Monetary rule: i, = —Ii* + I3 13,1 — Fytr—a 4+ eot, + Dok — Dafi + 5
Fiscal rule: g = —O, om; + @g‘lgl—l - @g,2§:—2 +@g.+lEI§I+l — O, 0%+ O 15+ 0

A Demand shock: 7' = x, 77| + &,

Supply shock: v, = x,v—) + &,

Debt shock: n, = x,n,—1 + &,

Monetary policy shock: &, = xz &, + €z

Fiscal policy shock: O; = x0 O,—1 + €0

As usual, the exogenous processes are assumed to follow AR(1) stationary processes.
The AR(1) process reflects, relatively well, the persistence that exists in many macroeco-

nomic time series. Moreover. each £: is indenendent and identicallv distributed with zero v
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